
 
 
 
2016 Escapade Replacement 
Parts and Pricing 
 

 
 

 

 

 

 
HIN Number:  NTG 
 
 
 

 

 

 



 

  Page 1

Drive Shaft, Acetal Rod 

Assembly 
Part  Includes Description Quantity 

Retail 
Each 

Retail 
Total 

DRS115  Drive Shaft Assembly, 3/4" Acetal Rod 1 $  125.00 $  125.00 

 DRS299 Drive Shaft, 3/4" x 77" Acetal 1 $    45.00 $    45.00 

 DRS345 Thompson Nyliner 3/4" ID x .812 x 1 1/8" 1 $      5.00 $      5.00 

 DRS340 Connector - Dr Shaft/Dr Unit 1 $      2.00 $      2.00 

 DRS342 E clip - Drive Shaft 2 $        .50 $      1.00 

 DRS315 Propeller 15" 2 blade 1 $    65.00 $    65.00 

 DRS332 Spacer Bushing, Prop - Escapade 1 $      2.50 $      2.50 

 DRS341 Union-Prop/Shaft - 3/4" 1 $      2.50 $      2.50 

 OPT126 Clamp - 1 1/4" Hose  SS 1 $      4.00 $      4.00 

 FAS248 PHPB #14 x 1.0 SS 2 $      1.00 $      2.00 

 DRS332SPL Spacer Bushing - Split 1 $      2.00 $      2.00 

      

 PLN025ASY Seal Bushing Assembly 1 $    10.00 $    10.00 

 PLN030 Bushing – Escapade keel 1 $      5.00 $      5.00 

 

 
 

 

DRS342 

PLN025ASY 

DRS925 

DRS332 

FAS248 

DRS341 

DRS342 

DRS340 

DRS345 

PLN030 

 

DRS332SPL 

OPT126 



 

  Page 2

 

 

 

 
 

 

 

 
 

 

 

 

     
 

 

 

 

 

DRS342 

DRS340 

DRS925         

- E clip 

- Connector 

- Drive shaft  

- Small Sprocket 

Assembly 

 

  As assembled 

DRS342 

      DRS340 

            DRS925  

FAS248 

DRS341 

DRS342 

DRS315 

DRS332 

       DRS345 

               PLN030 

PLN025ASY  

      OPT126 

            DRS332SPL 



 

  Page 3

 

Drive Unit Assembly 

Assembly 
Part  Includes Description Qty 

 Retail 
Each 

Retail 
Total 

DRS103  Escapade Drive Unit Assembly    $   500.00  $   500.00 

 DRS201 Drive Unit Housing - molded unit only 1  $   200.00  $   200.00 

 DRS211  Drive Belt - 3/8 P x .60  266T Kevlar, white 1  $   125.00  $   125.00 

 DRS256 Bottom Bracket shell 1  $     15.00  $       5.00 

 DRS260 Bottom bracket set OR8 68x110 Square 1  $     50.00  $     50.00 

 DRS306 Sprocket - Large 2  $     35.00  $     70.00 

 DRS270 Pedal - Barefoot Cruiser 1  $     15.00  $     15.00 

 DRS269 Crank arm set ORIGIN 140/150mm blk 1  $     60.00  $     60.00 

 DRS312 Spacer, Spider Sprocket, .250 THK 5  $       0.25  $       1.25 

 DRS311 Spacer, Spider-Sprocket, .156 THK 5  $       0.25 $       1.25 

 FAS382 BHCS 3/8-16 x 1" SS 5  $       2.00  $     10.00 

 FAS383 BHCS 3/8-16 x 1-1/4 SS 5  $       2.00 $     10.00 

 FAS381 BHCS 3/8-16 X ¾” SS 5  $       2.00 $     10.00 

 DRS902 Carrier, small sprocket. 2  $     40.00  $     80.00 

 DRS925 Small Sprocket Assembly 2  $     50.00  $   100.00 

 DRS267 Retaining Ring, SM Dbl. SS 1   

 DRS316 Belt Sprocket, 21T, 7/8 Hex 1   

 DRS317 Outer Bearing Race, Small, 3 tab 1   

 PLN048 Roller - 5/16 x 3/4 16   

 PLN028 Bearing Retainer - Small 1   

 PLN034 Inner Bearing Race - Small 1   

 FAN381 FPMS 10-1.5 x 25 mm NY 1   

 DRS247 Spring - 15/16 x 2" 1  $       5.00  $       5.00 

 FAN951 Nut - 1"-8 NY 2  $       4.00  $       8.00 

 FAN386 Knurled Set - 3/8-16 x .50 NY B 1  $       1.00  $       1.00 

 FAS365 Set Scr  3/8-16 x .375  SS 1  $       0.25  $       0.25 

 PLN041 Teflon strip .75 x 6 x .040 Teflon 1  $       3.00 $       3.00 

 PLN042 Outer Bushing Large 1  $       3.00  $       3.00 

 PLN043 Inner Bushing Large 1  $       3.00  $       3.00 

 DRS264 Retaining Ring Large Idler Sprocket 1  $       1.00  $       1.00 

 FAN372 FPMS 10-1.5 X 20 mm NY 8  $       1.00  $       8.00 

 FAN514 HHCS 1/2-13 x 3" NYB 4  $       2.00  $       8.00 

 DRS501 Spoke Knob - 1/2" Bolt 4  $       4.00  $     16.00 

 DRS502 Spoke Washer 2  $       2.50 $       5.00 

 DRS503 Washer, Drive unit adjustment 2  $       2.50 $       2.50 

 FAN364 SHCS 3/8-16 x 2.5 NY 1  $       1.00 $       1.00 

 FAN402 Nut 3/8 - 16, 11/16 x .25 NYB 1  $       1.00 $       1.00 



 

  Page 4

 

  
 

 

 
 

DRS201 

PLN043 

FAN372 

DRS256 w/ 

DRS260 

DRS902 

FAN951 

FAN386 

FAS365 

DRS201 

DRS312 

FAS382 

 

DRS306 

PLN042 

PLN043 

DRS264 

FAS381 

Clockwise: 

DRS256 w/ DRS260 

DRS502 

DRS503 

DRS241 

PLN041 

PLN043 

FAN372 

DRS264 

DRS311 

DRS312 

FAS381 

PLN042 (middle item) 

 

 

DRS925 

DRS211 

DRS270 

DRS269 

FAS381 



 

  Page 5

 

Small Sprocket Assembly  

Assembly 
Part  Includes Description qty 

 Retail 
each  

Retail 
Total 

DRS925  Small Sprocket Assembly  $   50.00  $  50.00 

  Small Sprocket Housing    

 DRS267      Retaining Ring 1 $     4.00  $    4.00 

 DRS316      Belt Sprocket 1 $   20.00  $  20.00 

 DRS317      Outer bearing race, small 3 tab 1 $   15.00  $  15.00 

 PLN048 Roller-5/16" x 3/4" 16 $     0.25  $    4.00 

 PLN028 Bearing Retainer-small 1 $     3.00  $    3.00 

 PLN034 Inner Bearing Race- small 1 $     7.00  $    7.00 

 FAN381 FPMS 10-1.5 x 25 mm NY 1 $     2.00  $    2.00 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Small Sprocket 

Housing 

DRS267 

DRS316 

DRS317 

PLN048 

PLN034 

PLN028 

FAN381 



 

  Page 6

Seat and Covers 

Assembly 
Part  

Includes Description Qty Retail Each Retail 
Total 

SEA101GEN 
  

Operators Seat Assembly,  
Available in Red or Turquoise  $       375.00 $     375.00 

 
SEA510GEN  
 

COVER, Operator's Seat Cushion, 
(Zander Cherry (red) or Turquoise) 

1 
$       150.00  $     150.00 

 SEA512 FOAM, Operator's Seat Cushion 1 $         75.00  $       75.00 

 SEA501 Molded Seat only 1 $       125.00  $     125.00 

 FAS171 Screws for cover OHPA 10x 3/4" SS 14 $           0.25  $         3.50 

 SEA521 Seat Adjustment lever 1 $         25.00  $       25.00 

 SEA522 Seat adjustment knob 1 $           4.00 $         4.00 

 FAS237 FPMS 1/4-20x1.50 SS 1 $           1.00 $         1.00 

 FAN523 SHCS 1/2- 13 x 1" Nylon 2 $           2.00 $         4.00 

 
FAN525 Socket head cap screw 1/2" x 1.5" 

nylon 
4 

$           1.25  $         5.00 

 PLN049 Spacer, Seat retainer 4 $           1.00  $         4.00 

 DRS503 Washer 4 $           2.50  $       10.00 

  Stern Cushion, Red or Turquoise    

SEA516GEN  
COVER Escapade Stern Cushion, 
(Zander Cherry (red) or Turquoise) 

1 
$         90.00 $       90.00 

SEA513  FOAM, Escapade Stern Cushion 1 $         35.00 $       35.00 

SEA514  
Storage Compartment Cover, Stern - 
Escapade 

1 
$         25.00 $       25.00 

 

 

 
 

FAS171 

SEA510GEN 

SEA512 (not 

shown) 

SEA522 

FAS237 

SEA501 

DRS503 
PLN049 

FAN525 

FAN523 

SEA521 



 

  Page 7

Steering Parts  

 
 
Assembly 
Part  Includes Description qty 

Retail 
Each 

 Retail 
Total  

STE102  STEERING SYSTEM 1   

  Steering Handle 2           

 STE602 Molded Handle 2 $     30.00 $      60.00 

 STE616 Adjuster-Steering Handle 4 $       3.00 $      12.00 

 FAS383 BHCS 3/8-16 x 1 1/4" SS 4 $       2.00 $        8.00 

 FAN359 SHCS 3/8-16 x 3/4 NY 4 $       3.50 $      14.00 

 FAS385 BHCS 3/8-16 x 1-1/2 SS 2 $       2.00 $        4.00 

 FAS808 Washer  3/8 x .875  SS 2 $       1.00 $        2.00 

 PLN052 Retainer: steering handle 2 $       5.00 $      10.00 

      

 STE604 Rudder 1 $     60.00 $      60.00  

 STE612PEX Tubing - Pex - anti-vibrate (6’) 2 $     25.00 $      50.00  

 STE627 Steering Delta - Solid 1 $     35.00 $      35.00 

 STE622 Steering tube clamp, bottom 4 $       2.00 $        8.00  

 PLN019 Steering tube clamp, top 4 $       2.00 $        8.00  

 STE618 Rod ,1/2" x 96", Acetal 2 $     50.00 $    100.00  

 FAS381 Screw 3/8-16 x ¾ SS 1 $       2.00 $        2.00  

 FAS248 PHPB #14 x 1.0 SS 8 $       1.00 $        8.00  

 STE623 Steering Take-up Clip 4 $       1.00 $        4.00  

 DRS501 Spoke Knob - 1/2" Bolt 1 $       4.00 $        4.00 

 FAN508 HHCS 1/2-13 x 1.50 NYB 1 $       2.00 $        2.00 

 PLN022 Rudder Post Bushing (upper) 1 $       5.00 $        5.00 

 PLN023 Rudder Bushing bottom 1 $       5.00 $        5.00 

 FAS808 Washer  3/8 x .875  SS 5 $       1.00 $        5.00    

 STE621 Pivot Link, Steering 2 $       1.50 $        3.00 

 STE625 Pivot Link - Clip Type 2 $       2.00 $        4.00 

 

STE604 FAN508 

DRS501 

STE627 

FAS381 

STE623 

PLN019 

PLN023 

PLN022 

STE622 

FAS248 



 

  Page 8

Steering Handle  

 

 

 
 

 

 

 

 

Miscellaneous Parts 

Part   Description qty  Retail each 

HUL419  Deck Plate - 5" white  $             9.00 

HUL420  Deck Plate - 6" white  $           10.00 

HUL433  Windshield  $         150.00 

PLN037  Windshield T-Screws  $             0.25 

HUL423  Floorboard  $         150.00 

OPT135  Stretch Cord, ¼” nylon Per foot $             1.00 

     

     

     

 

PLN052 

FAS385 

FAN359 

 
STE616 

FAS383 

 

Back side of steering handle 

STE602 


